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Solve the following basic subtraction sums using the number line. 

1. 34211 - 1 =                    

 

 

 

 

2. 26762 - 3 =                    

 

 

 

 

3. 60065 - 4 =                    

 

 

 

 

4. 81245 - 1 =                    

 

 

 

WORKSHEET#4 

 

34207 34208 34209 34210 34211 34212 34213 

Start here 

 

26756 

 

26757 

 

26758 

 

26759 

 

26760 

 

26761 

 

26762 

34210 

60060 60061 

 

60062 

5 

60063 

 

60064 

 

60065 

 

60066 

 

81242 81243 81244 81245 81246 81247 81248 
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1) 34210  2) 26759  3) 60061  4) 81244 
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